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MISSION 8 |

Feel free to use Mathematica or some other CAS to illustrate as needed.

Problem 151 Calculate
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Problem 153
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Problem 154 Calculate the average of f(z,y) = x* + 4? on the unit-square.
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Problem 155 Calculate the average of f(z,y) = 2% + 4 on the region bounded by z* + 3% = R®.
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Problem 156 Calculate the average of f(z,y) = zy on [1,2] x [3,4]. % O
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Problem 157 Show that
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Problem 158 Calculate
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Problem 159 Suppose [ [, fdA = fol fx‘f(l + z)dy dz. Calculate the given integral
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Problem 160 For the integral given in the previous problem, explicitly write R as a subset of R?
using set-builder notation. In addition, calculate the integral once more with the interation of
the integrals beginning with dz. Draw a picture to explain the inequalities which form the basis
for your new set-up to the integral
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Problem 161 Reverse the order of integration in order to calculate the following integral:
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Problem 162 Reverse the order of integration in order to calculate the following integral:

J+Xx¥
|l

Ne—" 3

\54 o l+(><1)

ras

S ] I pX 49
./ofy 1+a:4d$dy‘ f j O{x
o Jo
P e %X , Ulel=6
AU = 2XaAx , «4l1)= ],




Problem 163 Find the average of f (:c, y) = éy over the triangle with vertlces (0, 0) (3,1) and (—2,4).
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Problem 164 Find volume bounded by z = y + €* and the zy-plane for (z,y) € [0, 1]

szgi(\wex)dx Yy = jz(\g re-()d%
0 = g(_‘l’z\"’z"@"')%}[:

x [0,2].



